Calcular Porcientos (H)

Calcule el porciento o valor que se pide.

. ¢(Cudl es el 5% de $3,414.00?

- ¢(Cudl es el 100% de $5,563.00?

. (Cudl es el 40% de $8,273.00?

. ¢(Cudl es el 35% de $6,604.00?

. (Cudl es el 90% de $4,332.00?

10.

. (Cudl es el 60% de $3,798.00?

;Cual es el 35% de $7,759.00?

. ¢(Cudl es el 20% de $332.00?

;Cual es el 50% de $6,542.00?

;Cual es el 95% de $667.00?
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Calcular Porcientos (H) Respuestas

Calcule el porciento o valor que se pide.

. ¢(Cudl es el 5% de $3,414.00?

$170.70

- ¢(Cudl es el 100% de $5,563.00?

$5,563.00

. (Cudl es el 40% de $8,273.00?

$3,309.20

. ¢(Cudl es el 35% de $6,604.00?

$2,311.40

. (Cudl es el 90% de $4,332.00?

$3,898.80

10.

. (Cudl es el 60% de $3,798.00?

$2,278.80

;Cual es el 35% de $7,759.00?

$2,715.65

. ¢(Cudl es el 20% de $332.00?

$66.40

;Cual es el 50% de $6,542.00?

$3,271.00

;Cual es el 95% de $667.00?

$633.65
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